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Percentuali di numeri ( numero mancante )

x 80% = 26.4

x70% = 69.3

x 70% = 49.7

x 60% = 21

x 50% =7

x40% = 11.6

x 30% = 22.2

x 40% = 28

x40% =21.2

x 40% = 26.4
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Data:

x 40% = 20

x 10% = 0.4

x 40% = 35.2

x 50% = 43

x30% =294

x90% = 18.9

x 80% = 24.8

x 90% = 44.1

x 60% = 7.2

x 80% = 17.6

Punteggio:
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Percentuali di numeri ( numero mancante )

Nome:

33 x 80% = 26.4

99 x70% = 69.3

71 x70% = 49.7

35 x60% = 21

14 x 50% =7

29 x40% = 11.6

74 x 30% = 22.2

70 x 40% = 28

53 x40% = 21.2

66 x 40% = 26.4

Data:

50 x 40% = 20

4x10% =04

88 x 40% = 35.2

86 x 50% = 43

98 x30% = 29.4

21 x90% = 18.9

31 x 80% = 24.8

49 x 90% = 44.1

12 x 60% = 7.2

22 x 80% = 17.6
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Punteggio:
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